INDICATOR

M ED
ON SIDE
PANE|

FUSE

ON / OFF

MOJOTONE BRITISH 18W TMB WIRING DIAGRAM

47K

820071

STANDBY
O
BASS MIDDLE TREBLI
500K Log 25K Lin 250K Lin
INSULATE )
240V
7000118 D\ A
OUTPUT TRANSFORMER 7 A4
g £ = =
3 = = =
000018 k
R A OR S
y 2 §
2 F
|
1\\' -
f
i \\ \
{
{) Il #6 GROUND TAB
[ —
) 0, R —
74 —
[( 2.7K
| |
o\ o 8
7
GROUND TAB
E—
) EL84
#6 GROUND TAB
C

AC INLET

IMPEDANCE SELECTOR

SPEAKER OUTPUTS

oL

22nF

100K
O
GAIN TONE VOLUME
500K Log 00K Log 500K Log
1M
MASTER
1M Log
#6 GROUND TAB
1
w w 5 w i ' o B £ T
§ 5§ B 1M NP s M BB s S ¥ g
N B M8 §HE i BB o RECR R
~ Yo N ~ ©
> - o~ -
S (el S (el
S A S 2
47K

ECC83

HARDWARE:

16 QTY 4-40 X 1/4" SCREWS FOR ECC83 TUBE SOCKETS, TURRET BOARD, AND POWER JACK GROUND
8 QTY 4-40 X 3/8" SCREWS FOR EL84 AND EZ81 TUBE SOCKETS AND POWER JACK

4 QTY 4-40 X 1/2" STANDOFFS FOR TURRET BOARD

16 QTY 4-40 KEPS NUTS

4 QTY 6-32 X 1/2" SCREWS FOR CAPACITOR CLAMPS

4 QTY 6-32 KEPS NUTS

2 QTY 8-32 X 1/4" SCREWS FOR TRANSFORMERS

6 QTY 8-32 KEPS NUTS

4 QTY M6 X 1 1/4" SCREWS FOR CHASSIS

0 icvs0n; ™
==

2/22/2024

a9

9, %




